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OxIl=0

| x |l =1l

2 x|l=22

3x|l=33

LoxIl=LL

5 x|l =55

6 x|l =66

[ x1l=17]7

3 x|l=88

9 x[l=99

10 x |1 =110

[ x || =12]

2 x |1 =132

Exercise | Exercise 2 Exercise 3
) 3xll= ) Hxl = ) 1Ix5-=
) 6xll= 2) 11x9-= 2) 7xll=
3) 8xll-= 3) 1lx6-= 3) 11x9-=
L) L xIl= L) llx2 = L) 3xll=
5) | Axll= 5) 1l x| = 5) x| =
6)  10xIl= 6) 11xI0= 6) 10x!l=
7). 2xll= 7) x5 = 7) lxl =
8) 12xll= 8) 1lx0 = 8) Axll =
Q) 5xll= Q) 1Ix3= A 12 xll=
0) IxIl= 0) 1x12 = 0) 11x2 =
1) Oxll= 1) 1lx7 = 1) 1l x Il =
2) 7xll= 2) 1IxIl= 2) 6xll=
3) 1lxIl= 3) 1Ix8-= 3) 1Ix8-=
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